Geometry - Trigonometry Area of Triangle
Qi

The diagram shows a sector of a circle with centre O.
The radius of the circle is 8 cm.

PRS i1s an arc of the circle.
PS is a chord of the circle.
Angle POS = 40°

Diagram NOT
accurately drawn
0
Calculate the area of the shaded segment.
Give your answer correct to 3 significant figures.
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(Total S marks)
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ABC is a triangle.
AB=8.7 cm.

Angle ABC = 49°.
Angle ACB = 64°.

Calculate the area of triangle ABC.
Give your answer correct to 3 significant figures.

(Total 5 marks)
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Calculate the area of the shaded segment.
Give your answer correct to 3 significant figures.
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ABC is a triangle. Lhe “"S'L bebweenr Ehem

AB = 8.7 cm.
Angle ABC = 49°.
Angle ACB = 64°.

Calculate the area of triangle ABC.
Give your answer correct to 3 significant figures.
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